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The written examination was administered on December 5, 1990
at the Byron training center. Operational examinations were
administered at PTC Braidwood on December 3 and 4, 1990.
Walkthrough examinations were administered at Byron on
December 6 and 7, 1990, with an exit meeting with plant
management taking place on Decewber 7, 1990, Participating
in the examination were five Reactor Operator Candidates and
four Senior Reactor Operator Candidates.

One Regualification retake was also administered. The only
portion of the requalification examination administered was the
JPM portion. Simulator JPMs were administered at PTC Braidwood
on December 4, 1990, with the inplant portion being administered
at Byron on December 5, 1990.
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Examiner Observations

Examination Development

The reference material that the licensee sent to the
NRC for examination preparation was all properly
bound and labeled, and for the most part, the NRC
examiners were able to extract the needed information.

The pre-examination review conducted by the licensee on
the written examinations was very productive. The
licensee's input to the examination ensured that the
terminology used on the examination was plant specific,
thus avoiding confusion on the part of the candidates
during the examination. In addition, the review
process insured that the examinations were technically
correct and appropriate for each licensc type as
specified by the licensee's job description.

Operating Examination Administration
During the administration of the examinations, the
examiners observed both deficiencies and strengths on

the part of the Senior Reactor Operator and Reactor
Operater candidates.

The follewing deficiency in the candidates' performance
were observed in the majority of the candidates that
were examined:

Operators stated that they would climb over operating
equipment to manipulate controls. This demonstrates a
lack of personal safety on the part of the candidates.






Exit Meeting

An exit meeting was held to discuss the examiner's
observations discussed in Section 2 of this report on
July 27, 1990, with facility management and training staff
representatives,

NRC representatives in attendance were:

J. Walker

R. Bailey

K. Shembarger

W. Kropp., Senior Resident Inspector

Fagility representatives in attendance were:

L. Bunner, Lead Instructor

K. Brown, Instructor

R. Lloyd, Instructor

J. Heaton, Instructor

D. Popkins, Byro» timulator

K. Gerling, PTC ..mulator

R. Pleniewkz, Byron Station Manager

J. Kudalls, Byron Servuces Director

G. Schwartz, Byron Production Superintendent
R. Ward, Byron Technical Superintendent
A. Chernick, Training Supervisor

J. Schrock, Adminstrator OE

The facility management acknowledged the examiner's
observations.



ENCLOSURE 2
EACILITY COMMENTS AND NRC RESOLUTION OF COMMENTS

Written Examination Review

Facility representatives were allowed to review the written
examinations prior to the administration as discussed in Section
2.a of this report, and any applicable comments from the review
were incorporated into the examinations.

Following the conclusion of the written examinations, the
facility was given a copy of the Senior Reactor Operator and
Reactor Operator examinations and answer keys. The facility
then had until the end of the examination administration week
to provide any additional comments in writing to the NRC,

The following paragraphs contain the facility comments concerning
the examinations followed by the NRC resolutions,

(1) RO Question 043 and SRO Question 051:

Per BAP 1450-1 access to containment, which one of the following
describes the requirements for initial entry into containment?

a. There shall be a minimum of 3 personnel with radiological
protective egquipment.

b. There shall be a minimum of 2 personnel with respiratory
protective eguipment.

- There shall be a minimum of 3 personnel one of which shall
be a fire brigade member.

d. Ther= shall be a minimum of 2 personnel one of which shall
be a brigade member.

Answer: d.

Reference: Byron BRP 1000 Al Pg. 9

Facility Comments:

The correct answer is b. There shall be a minimum of 2 personnel
with respiratory equipment. This appears to be a typographical
error. The procedure;, BAP 1450-1 has been attached to
substantiate this recommendation.






ENCLOSURE 2 (Cont'd)
(3) RO Question 054:

The following plant conditions exist:

Reactor Power......1l2%
Steam Dumps........Opey
Tave.......liltlllt56lF

While performing a plant startup per BGP 100-3, steam pressure
detector PT-507 failed low. Which one of the following describes
the expected plant response?

a. Steam dumps close with Tave increasing.

b. Steam dumps are opened with Tavg increasing.
s Steam dumps are opened with Tavg decreasing.
d. Steam dumps close with Tavg decreasing.
Answver: d.

Reference:

1, Byron System Description 24, Steam Dumps, pg. 40
2., BGP 100~3, pg. 19

Facility Comment:

With the conditions given in the guestion, the contention is that
due to RCP pump heat and decay heat, Tavg would be increasing.
Therefore, we believe that the answer key has a typographical
error in it, therefore answer a. should be considered correct.

NRC Resolution:

Comment not accepted. The point of the questicn is to determine
whether or not the candidate is able to distinguish between
proper steam dump operation (in progress) to reduce an
overtemperature/cverpressure condition from those of an
initiation of steam dump operation to correct a potential
overtemperature/overpressure condition. The expected response
is based upon a snapshot of the plant within 60 secs after the
failure of PT=-507.

(4) RO Question 063:

The control room LED display for the CETC's and their acknowledge
pushbuttons are flashing. Which one of the following describes
the status of the CETC's?






ENCLOSURE 2 (Cont'd)

. CV=-8141A, 1A RCP Seal leakoff isolation
d. CV=-459, letdown line isolation

Answer: d.

References: Byron System Description 15A, pg. 15A-65
through 15A-65

Facility Comment:

Per station drawings the CV=8141A, 1A RCP :eal leakoff isolation
fails cpen and CV-459 fails closed. There ore, the answer key
shows a typographical error. The correct answer should be

c. CV-8141A, 1A RCP seal leakoff isolation.

NRC _Resolution:

Comment accepted. Answer key changed to reflect "c" as correct
answer,

(6) RQ Question 095:
The following plant conditions exist:
Unit 1 in .s..... Mode 6 for 5 days
Unit 2 in ....... Mode 1 for 25 days
Fire detection on reserve power
Jockey pump OA cycling as required
Which one of the following fire pump combinations would be
available to maintain fire protection header pressures and
flow in order to combat a fire in the 4160V BUS 1447
a. Jockey pump OA, electric driven fire pump
b. Jockey pump OA, Diesel driven fire pump
¢ Jockey pump OB, Electric driven fire pump

d. Jockey pump OB, Diesel driven fire pump

References: Byron System Description 57, Fire Protection
System, pg. 57-58



ENCLOSURE 2 (Cont'd)

Facility Comments:

The power supply to the OA Jockey pump is MCC 134-Ul which is fed
from Bus 144. Also, the electric driven fire pump is powered
from Bus 144, Neither of these would be available. The correct
answer should be d. We believe there is a typographical error on
the answer key.

NRC Resolution:

Comment accepted. Answer key changed to reflect "d" as the
correct answer.



SIMULATION FACILITY REPORT
Facility Licensee: Commonwealth Edison Company
Facility Licensee Docket No. 50-454

Operating Tests Administered On: 12/3/90 and 12/4/90

During the conduct of the simulator portion of the operating
tests, the following items were observed. (If none, so state):

1TEM DESCRIPTION
SER Computer Not available
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NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS
During the administration of this examination the following rules apply:

1. Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

2. After the examination has been completed, you must sign the statement on
the cover sheet indicating that the work is your own and you have not
received or given assistance in complcting the examination. This must be
done after yocu complete the examination.

3. Restroom trips are to be limited and only one candidate at a time may
leave. You must avoid all contacts with anyone outside the examination
room to avoid even the appearance or possibility of cheating.

4. Use black ink or dark pencil only to facilitate legible reproductions.

5. Print your name in the blank prc led in the upper right-hand corner of
the examination cover sheet,.

6. Fill in the date on the cover sheet of the examination (if necessary).
7. Write your answer only on the answer sheet provided.

8. 1f the intent of a question is unclear, ask questions of the examiner
only.

9. When turning in your examination, assemble the completed examination with
examination guestions and answer sheets. In addition, turn in all scrap
paper.

10. To pass the examination, you must achieve an overall grade of 80% or
greater.

11. There is & time limit of (4 1/2) hours for completion of the examination.
{or some other time if less than the full examination is taken.)

12, When you are done and have turned in your examination, leave the examin-
ation area as defined by the examiner. 1If you are found in this area
while the examination is still in progress, your license may be denied or
revoked,
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“oNIOR REACTOR OPERATOR Page 5

QUESTION: 003 (1.00)

The following plant conditions exist:

Rod D-8 bottom light ... LIT
Rod D=4 bottom light ... LIT
N-41 negative rate trip annunciato: ... LIT
Reactor Power... 95%

ROD CONTROL URGENT FAILURE annunciator NOT LIT

PER BOA-4 DROPPED ROD RECOVERY, which one of the following describes
the actions required for this event?

a. Reset rate trip and perform dropped rod recovery.
b. Trip the reactor and enter BEP-0.
¢c. Restore TAVG/TREF then calculate QPTR.

d. Place rod control in manual and stabilize plant
conditions.

QUESTION: 004 (1.00)
The following plant conditions exist:

Control Bank D Rod H-8 dropped 15 minutes ago

ROACEOY POWOE s chsvvnbsnsinnve v .+.90% and stable

QPI‘R I B I N A A A A O A A R N N D I N 1!10

BOA ROD-4 DROPPED ROD RECOVERY in progress
Per Technical Specification 3.2.4 QPTR (attached), which ONE of the following
describes the required plant actions if the rod has not been repaired after
3 hours?

a. Reactor in HOT STANDBY.

b. Reactor Power limited to 80%.

¢. Reactor Power limited to 70%.

d. Reactor Power limited to 50%.



SENIOR REACTOR OPERATOR Page 6

QUESTL(ON: 005 (1.00)

Per 1BFR-S.,1 RESPONSE TO NUCLEAR POWER GENERATION/ATWS, which ONE
of the following is reguired to perform an Emergency Boration?

a, Start Cent Chg pumps, start boric acid transfer pumps
in fast speed, open emergency boration valve (1CV-8104).

b. Start PD pump, start boric acid transfer pump, in fast
speed, open emergency boration valve (1CV-8104).

¢. Start Cent Chg pumps, open RWST to Cent Chg pumps suct iso
valves (1CV=-112D,E) close VCT valves (iCV-112B,C) open Chg
pumps to cold leg isolation valves. (1SI-8801A,B)

é. Start PD pump, open RWST to CHG pump suction isclation valves

(1€V=112D,E) close the VCT outlet isolation valves (1CV~112B,C)
open CHG pump to cold leg injection valves. (18I~-8801A,R)

QUESTION: 006 (..00)

The following conditions exist on unit 1:

AUCT TAVG HIGH. s svasssrssass vonaaslT
| DELTA I EXCEEDED.: ... PR «LIT
| OT DELTA T HIGH ROD BTurscav o090+ LIT
| TAVG has increased 5 F in 20 minutes
| REACLOr POWET: «tvsses cvssvs .90%

Rede in Manual and no rod motion has occurred

| Per BOA PRI-12 UNCONTROLLED DILUTION which one cof the following is
| the required action to take for the above parameters?

a. Trip the reactor and enter 1BEP-0.
b. Initiate emergency boration of RCS.
¢. Obtain an activity sample of the RCS.

d. Perform a rapid shutdown and cooldown.



SENIOR REACTOR OPERATOR Page

QUESTION: 007 (1.00)
The following plant conditions exist:

A-D MSIVes are closed

"A" SC PresSure@.......«sss:2+4++.820 psig decreasing
"B" SC PressSure@........sss++:4+++830 psig decreasing
"C" SG PresSsSuUre@.....ssss:+444++.830 psig decreasing
"D" SG PresSsSuUre@.....sss1s+:.+4+:520 psig decreasing
A-D 8G Wide range levels........decreasing

Which ONE of the following describes the event in progress?
a. Tube Rupture in "D" SG.
b. Fault in "D" SG.
¢. Tube Rupture in "B" SG.

d. Fault in "B" SG.

QUESTION: 008 (1.00)

The following conditions exist following a LOCA on unit 2:

CTNT PreBSuUr®: s« scsssrssanssnrssnarscssl® paig and stable.,
REE PXoBSULS cisssesininnsrasssanssesssdOD POy

COES BRLIL TOR ssanmatasssansnsses sennssnd2Qd F

REPE i onissinawso vaavice veaseseasss cssenesss Tripped

SG PressuresS........:. cressasssnesun s 1B0 POLY BtARlS

which ONE of the following describes the required actions
per the Byron Status Trees?

a. Enter procedure 2BFR-H.1 RESPONSE TO LOSS OF SECONDARY
HEAT SINK.

b. Enter procedure 2BFR-Z.1 RESPONSE TO HIGH CNMT PRESSURE.
¢. Enter procedure 2BFR-C.2 RESPONSE TO DEGRADED CORE COOLING.

d. Enter procedure 2BFR-C.1 RESPONSE TO INADEQUATE CORE
COOLING.



SENICR REACTOR OPERATOR Page

QUESTION: 009 (1.00)
An Equipment attendant reports smoke and flame coming out of the
motor windings for the running circulating water pump. Which ONE of the
following fire classifications would be present?
a. Class A and Class B.
b. Class B and Class D.
¢. Class C and Class D.

d. Class C and Class A.

QUESTION: 010 (1.00)

A fire has occurred on Bus 141. Which ONE of the following
would be affected by this fire?

a. 1A Reactor Coolant Pump.
b. 1 Station Air Compressor.
¢. Group C Pressurizer Control Heaters.

| d. 1A Essential Service Water pump.



'OR OPERATO! Page 9
4 SUESTION: 011 1 o ¢
The following plant conditions exist
Tube rupture in "B" EG
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ROOM INACCESSIBILITY

ons are required:

a. 6C

-+
)

o Procedure BEP-0.

b, Go to procedure BFR-S5.1.

)

Go to procedure BEP-0 while continuing with steps of 1BOA

Go to procedure BFR-S.1 while continuing with steps of
1BOA PRI-S5,

When locally controlling the SG PORVs, at the valve

which ONE of the following describes the actions required prior
to going from the full open to the full close position on the
oo Bp.. i

T

a. Equalize hy \wwlic pressure on hydraulic line.

b. Increase hydraulic pressure on hydraulic line using the hand punp.

e

c. lIsolate the affected SG PORV block valve.

d. Place the ccntrol swi

t

ch to the MANUAL position.




SENIOR REACTOR OPERATOR Page 10

QUESTION: 013 (1.00)
The following plant condition exist:

ROA CONELYOlesssnessvscseessessAutonatic
R.actor pow‘rl..'lﬁll'OOC'00!'95‘
VCT PresSsure.........++++++4+:20 psig

A leak in which ONE of the following would cause
Control rods to step in?

a. RCP thermal barrier heat exchanger.
b. Spent fuel pit heat exchanyer.
¢. Letdown heat exchanger.

d. Seal water heat exchanger.

QUESTION: 014 (1.00)

Which ONE of the following flow instruments have indication
on the Main Control Board?

a. RCP Thermal barrier heat exchanger outlet.
b. Seal water heat exchanger ccmponent cooling outlet.
¢. RHR pump component cooling outlet.

d. Excess letdown heat exchanger combined return flow.



lant condit
I, LEAKOF
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SEAL DELTA
1 RCP 1A

RCP SEAL FAILURE, w!

rogress!:
lant Pump seal fallure,
Injection,
.0 RCP motor,

mal Barrier

Per BOA PRI=-6
regquired for

a. *ip the RCP, then manu: Y *lp the turbine.

or power to 38 than 35% power then

power

the reactor,




SENIOR REACTOR OPERATOR Page 12

QUESTION: 017 (1.00)

The following plant conditicns exist:

Rod D-a PO BN B B0 T T N R O IR IR O O N O DR BN DR IR B AN DR R BN IR R 200 steps
All other rods in Control Bank D........220 steps
Power at. R R RETE R R R R X R R W RN R N R R RN R N N N R 60*

Per BOA ROD=3 STUCK OR MISALIGNED ROD which ONE of the following actions is
required for this event?

a. Reduce power to less than 50% then realign rod to bank.
b. Reduce power to less than 50% then realign bank to rod.

c. Maintain stable plant conditions, then realign rod to
bank.

d. Maintain stable plant conditions, then realign bank to
rod,

QUESTION: 018 (1.00)
The following plant conditions exist:

Control Bank D rods will not move in AUTO

PUTRINS POWBE s vvs savasunssinmssarall

IR HIGH FLUX ROD STOP C~1 permissive light...NOT LIT

PWR RNG FLUX HIGH ROD STOP C-2 permissive light...NOT LIT
OP DELTA T HIGH ROD STOP C-4 permissive light...NOT LIT
OT DELTA T HIGH ROD STOP C-3 permissive light...NOT LIT
TURBINE LOW POWER INTERLOCK C~5 permissive light...LIT
CONTROL BANK D ROD STOP C-~11 permissive light...NOT LIT
ROD CONTR2L URGENT FAILURE annunciator..........NOT LIT

PER BOA ROD-2 FAILURE OF RODS TO MOVE which ONE of the following actions
are required to control TAVG?

a. Adjust rods as necessary in BANK SELECT.
b. Block the Turbine Low Power Interlock rod stop.
c. Adjust rods as necessary in MANUAL.

d. Bleck the IR HIGH FLUX rod stop.
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REACTOR OP

The following plant

Pressurizer pressure .1900 psig=-de easing
Steam line pressure.........800 psig-decreasing

Contairment pressure.... 5 psig-increasing

et s do
Pressu:izer level..... «.+4%~decreasing

sh ONE of the following describes the actions expected for this

Manua.ly T - oCS e ment

| ool ke wie
!t.\ Nald actuate oA

Manually trip the reactor and Manually act

| B
“t
Injection.

Allow automatic initiation of Reactor Trip
Injection.

QUESTION:

Per BOA PRI-4 HIGH TOR COOLANT ACTIV

; v o
A WU LAY L L B B U O §

Y, which ONE of the
following is the « teria used to determine if the standby mixed
bed demineralizer should placed in service?

E
a. Dose equivalent I-131 greater than 1 micrc

Crose radiocactivity greater than 1C0/Ebar.
. Chloride levels greater than

A

d. Decontamination factor less than 10.
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REACTOR OPERATOR

QUESTION: 02¢ (1.00)

The failed fuel monitor 1RT-PR0O06 uses which ONE of the following

Vi ',;
types of detectore?
a. Fixed Geiger-Mueller (G-M) tube detector.
»
b. Nal crystal scintillation detector.
L ¢, Compensated Ion Chamber detector.
n Boron Trifluoride neutron detector.
I _ - N: 024 (1.00)
s»llowing plant conditions exist:
ROG CONEXOL. s snsssancassnsssyeess s NaNUAL
Generator OULtPUt. i seisarsaisssenss 870 MWe
2 Heater Drain PumpS......:sse¢s+qUNNiNG
3 CD/CB PUBPB:ccssssssonsssssssnses s TUNNING
1S LA Mair Feedwater PumpP..sssssvess4.008
1B Main Feedwater PUumpP.......+:::..UNN1ING
1C Main Feedwater Pump...:«.sss++...Just TRIPPED
b ONE of the following shows the required actions for this
a. Reduce generator load to 800 MWe and place rod control in
\UTO.
b. Reduce generator load to 779 Mwe.
¢. Reduce generator load to 800 MWe,.
d. Reduce generator load toc 779 MWe and place rod control 1in

AUTO.

-




REACTOR OPERATOR Pag

auxiliary feedwater to maintain 500 gpm after a Reac

m
>4
bt
O
—

O

025 (1.00)

I

“

ONE of the following describes the basis for throttling
tor

Provide adegquate SG inventory with level readings on
span; prevent AFW pump runout,

Prevent AFW pump runout; allow enough AFW flow 1n case of
a main feed line break.

Allow enough AFW flow in case of a main feed line break,
prevent overcooling of the RCS.

Prevent overcooling of the RCS; provide adeguate SGC
inventory with level readings on span.

The following conditions exist:

Auxiliary feedwater:
Main Steam Penetration 1A and 1B MSIV room Rad monitor

SGC NR level. ... .+++:22% and stable

BG NR I8VEL s «'sve s PR 1 nd stable

SG NR level.... cvss2+:.26% and stable

8G NB leVel :icisirsasses+35% &nd incressing
blowdown liguid R 'R0O8J....RED

pumnps ......unning

o
£
3
3
bt
t
e
-

ONE of the following events 18 1n progress’

r
i3
e

1A 1s faulted.

1B is faulted.

n
@

SG 1C has a tube rupture.
SG 1D has a tube rupture.




SENIOR REACTOR OPERATOR

QUESTION: 027 (1.00)
which ONE of the following components is isolated and remaines
isolated for a Faulted Steam Generator, but NOT necessarily for a
Steam Generator Tube Rupture?
a. Main Steam isolation valve. (MS001)
b. Main Feedwater isolation valve. (FW009)
¢, Auxiliary Feedwater isclation valve. (AF013)

d. Main Feedwater Preheater Bypass Isolation valve. (FW039)

QUESTION: 028 (1.00)
PER BFR=S.,1 RESPONSE TO NUCLEAR POWER GENERATION/ATWS which ONE of
the following describes the order of actions to shutdown or trip
the reactor?

a. Allow rods to insert in automatic, emergency borate,
insert rods in manual.

b. Manually trip the reactor, emergency borate, allow the
rods to insert in automatic.

¢. Emergency borate, allow rods to insert in automatic,
insert the rods in manual.

d. Manually trip the reactor, allow rods to insert in
automatic, insert rods in manual.

QUESTION: 029 (1.00)
The plant is at 5% reactor power following a startup when a
pressurizer spray valve fails open depressurizing the Reactor
Coolant system., Which ONE of the following would be the
FIRST to trip the reactor?
a. Over Pressure Delta T reactor trip.
b. Press ‘rizer high water level reactor trip.
¢. Pressurizer Pressure low reactor trip.

d. Pressurizer Pressure Low Safety Injection,

Page 17



SENIOR REACTOR OPERATOR

QUESTION: 030 (1.00)

Per 1BOA PRI~10 LOSS OF RH COOLING, which ONE of the following is
NOT a considerution for determining if the RCS is adverse?

a. RCS integrity.

b. CTMT pressure.

¢. RCS hot side vent path.
d. RCS loop status.

QUESTION:. 031 (1.00)

The following readings were noted on the power range and
intermediate range nuclear instrumentation channels:

N=3f 5X10E~6
N=36 S5X10E~5
N=41 l.S‘
N=42 9%

N=43 8.5%
N~44 9%

Which ONE of the following describes the proklem that is
indicated by these readings?

a. N-35 is reading LOW for current conditions.
b. N-36 is reading HIGH for current condifions.

¢. N=41 and N-43 were adjusted improperly during the last
calometric.

¢. N=42 and N-44 were adjusted improperly during the last
calometric.

Page 18



SENIOR REACTOR OPERATOUR Page 19

QUESTION: 032 (1.00)
Per BOA PRI-10 LOSS OF RH COOLING TABLE A, which ONE of the following
is a criteria to determine the cooling method for a loss of RHR in
MODE 6, but NOT in Mode 57
a. RCS is adverse.
b. Hot si“e vent established.
¢. Normal configuration of systenm.

d. Refueling cavity flooded.

QUESTION: 033 (1.00)

With the plant at 50% power, DC Bus 111 is lost. Assuming no
operator action which ONE of the following would occur?

a. Reactor =vip from low-low §G level.
b. Loes of “izld flashing for 1B diesel generator.
¢. Turbine trip due to loss of backup seal oil pump.

d. PMG output breaker fails open.

QUESTION: 034 (1.00)

The plant had received annunciator 125 VDC PANEL 111/113 VOLT LOW. Which
ONE of the following is used to determine if a only Bus 113 is deenergized?

&. Normal DC volts on main control board.
b. No DC volts on Main Control Board.
¢. Fuses inside ground detection cabinet blown.

d. Annunciator 125 VDC BUS TIE BREAKER TO BUS
211/111 CLOSE/TRIP LIT.
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SENIOR REACTOR OPERATOR Page 21

QUESTION: 037 (1.00)
The following plant conditions exist:

R..thr pow.rl FEEEARNERSEREEREEE N EE RN EBEERENREEINERY ) 100‘
Loop A NR RTD channel TE«5l11l..ivvuvsesses44,008
bi't.bl.. 'or Tz-‘ll L I O IR O D O DR B N O A Otripp.d

Pressurizer pressure channel PT-456 fails high, which ONE of the
fcilowi?q describes the actions required to be taken for this
failure

a. Trip the bistables associated with PT~-456.
b. Manually trip the reactor and go to BEP-0 RX TRIP OR &I,

¢. Restore at least one channel within 1 hr or be in HOT STANDBEY within
6 hours.

4. Reduce reactor power to less than 50% within 3 hours.

QUESTION: 038 (1.00)
The following plant conditions exist:
Pressurizer pressure control selected to Channel PT-455
Spray valves closed
PORV PCV~-455 closed
PORV PCV=456 cycling

Which ONE of th: following pressurizer pressure channels has
failed?

a. Pr-455 failed low.
b, PT-457 failed low.
¢, PT-457 failed high.
d. PI-455 failed high.
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Which ONE of th llowing methods of performing an
Verification of system alignment would be acceptable:

a. Use a second qualified individual to witness
nd sign fur verification.

a functional check on
affected.

se a second qualified individual to perform
alignment check on the system.

Perform a functional check on the affected s
preferred method of verification

'




SENIOR REACTOR OFERATOR Page 25

QUESTION: 045 (1.00)

Which ONE of the following describes the usage of the "#" symbol
in the left nand margin of an operation procedure?

a. Manipulation of the valve or eguipment requires manual
ESD input.

b. The step must be pertormed pricr to continuing with the
procedure.

¢. 1f the step is not satisfactorily performed, entry into a
Technical Specification LCO action may result.

d. The step to be performed ie a 3yron station commitment to the
NRC.

QUESTION: 046 (1.00)

Per BAP 1450-7 CONFINED SPACE ENTRY AND WORK, which ONE of the
following is correct concerning controls and into confined
spaces?

a. Wherever a person is working in a confined space, a
Cardiopulmonary Resuscitation (CPR) trained
attendant must be available to summon help.

b. Atmospheric retesting freguency of the confined space
shall not exceed 6 hours.

c. The acceptable air qualicy for confined spaces is an
oxygen concentration of . 5%.

d. Only a CPR qualified fire brigade member may act as a
confined spaces rescue person.
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(1.00)

QUESTION: 049

Which ONE of the foilowing describes the operators
responsibilities in the control room during dual unit operation
under an emergency situation?

a. The unaffected unit NSO may leave his "AT the Controls Area"
unattended for up to 15 minutes in order to help the
other unit,

b. The unaffected unit NSO must obtain SCRE approval before leaving
his "At The Controls Area" to provide assistance on the other unit.

¢. The replacement NSO for the stable and under control unit
must review that unit status every 20 minutes.

d. The SCRE must assume the stable and under control unit
responsibilities during the absence of the unit NSO,

QUESTION: 050 (1.00)

Per BAP 331-2 INSTALLATION OF GROUND TEST DEVICES (GTD), which ONE
of the following describes the correct actions?

a. Requestor should get verbal concurrence from all
individuals, with 00S cards for the affected equipment.

b. The GTD can be installed by any available operator.

¢. Keep all persons having 008 cards on the equipment being
grounded informed of any change2 in the GTD status.

d. If a second requestor desires installation of same GTD,
then utilize the original BAP 331-2T2 GTD INSTALLATION/REMOVAL
RECORD,
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QUESTION: 051 (1.00)

Per BAP 1450-1 ACCESS TO CNMT, which ONE of the following describes the
requirements for an Initial Entry into CNMT?

a, There shall be a Minimum of 3 personnel with radioclogical
protective equipment.

b. There shall be a Minimum of 2 personnel with SCBA respiratory
protective equipment.

¢. There shall be a Minimum of 3 personnel one of which shall be
a fire brigade member.

d. There shall be a Minimum of 2 personnel one of which shall be a
brigade member.

QUESTION: 0852 (1.00)

wWhich ONE of the following statements best describes the proper
action when verbally directing an egquipment attendant to perform a
system lineup involving several valves?

a. Equipment attendant should give a complete repeat back of
the instructions prior to proceeding to the task,
therefore confirming the orders given.

b. Equipment attendant should proceed to perform the task
even though he had doubts about some of the specifics.

c. Equipment attendant should proceed to perform the task and
give a partial repeat back upon its completion.

d. Equipment attendant reports the task in progress, after a
reasonable period of time you are allowed to assume the
task is completed without notification.



SENIOR REACTOR OPERATOR

QUESTION: 053 (1.00)

which ONE of the following describes the actions to be
taken following the discovery of a fellow worker lying
unconscious at the bottom of an open tank? No Confined Space Permit

or other individuals are in sight,

Yell for help, attach a rope to your waist and enter for
rescue purposes.

Obtain and don a POSITIVE pressure SCBA prior to entry
for rescue purposes.

Yell for help, take a deep breath and enter for rescue
purposes.

., Obtain and don a NEGATIVE pressure SCBA prior to entry

for rescue purposes.

QUESTION: 054 (1.00)

Which ONE of the following describes the safety precautions
utilized when adding Hydrazine to the Reactor Cooclant System?

Fill the chemical addition tank rapidly to minimize any
splashing of chemicals out of the funnel.

Vent the chemical addition %ank to ensure proper
siphoning during chemical addition.

. Fill the chemical addition tank very slowly to prevent

splashing of chemicals out of the funnel.

Completely fill the chemical addition tank to allow
proper siphoning of chemicals during drain process.

Page 29
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QUESTION: 055 (1.00)
In MODE 1, while performing BOP CV~22 SWITCHING INSERVICE LETDOWN
HEAT EXCHANGERS, which ONE of the following would be required if
Letdown HX temperature Control Valve (TCV=130) failed closed?
a. Continue the procedure to restore CCW flow.
b. Stop the procedure and stabilize the plant
¢. Inform the SCRE and continus with the procedure.

d. Stop the procedure and increase charging flow.

QUEETION: 056 (1.00)

Which ONE of the following features of the Fire Protection System
will enable the system to perform it's intended function if Control
power is lost?

a. Diesel driven fire pump can be started manually within
four (4) minutes.

b. Deluge and foam systems have AUTO actuation available
after AC control power loss.

¢. CO2 and halon systems have AUTO actuation available
after AC control power loss.

d. Diesel drivenr fire pump will start up Automatically after
four (4) minutes,.






SENIOR REACTOR OPERATOR Page 32

QUESTION: 060 (1.00)

During the performance of throttle valve testing, all turbine
throttle valves simultaneously close. The following initial
conditions existed:

Turbine load ......cv04:4.330 Mwe
Which ONE of the following describes the expected plant response?

a. Turbine trip signal sent to initiate Reactor trip since
power is above P-8 setpoint.

b. Turbine intercept valves close and extraction steam
dump valves open to control steam demand and RCS
temperature.

c. Turbine trip signal generated but no reactor trip since
power is below P~8 setpoint.

d. Steam dumps and non-return check valves open to control
steam demand and RCS temperatures.

QUESTION: 061 (1.00)

During plant cocldown to Mode 5 on Unit One RCS pressure indicated
by PT-403 spiked high. Plant initial conditions were:

RCS temperature 320 F
RCS pressure 340 psig
RHR pump "B" in service

Which ONE of the following statements describes the expected
plant response?

a, Closure of RH-8702B resulting in loss of suction to RHR
pump "B".

b. Closure of RH-8701A resulting in loss of suction to RHR
pump "B".

¢. High RCS pressure alarm "RC SYSTEM COLD PRESS HIGH.

d. High RHR pump discharge pressure Alarm and "B" RHR pump
trip.
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QUESTION:

062 (1.00)

Page 33

Which ONE of the following valves will OPEN and STAY OPEN upon a

loss of
a.

b.

QUESTION:

instruments air to containment?
Pressurizer spray (RY 455).

Regen HX Tube Side Inlet (CVE324).

RC Cold Loop 1 Charging Inlet (CV 8147).
letdown Orifice Isolation (CV 8149).

063 (1.00)

The proper method of controlling the RCS cooldown rate while
performing a cooldown using the RHR system is by regulating the
flow on the side of the RHR heat

exchanger.

a.
b.
C.

d‘

QUESTION:
Which ONE of the following conditions will automatically OPEN

Reactor Coolant, tube.
Reactcor Coolant, shell.
Component Cooling Water, tube.

Component cooling water, shell.

064 (1.00)

the SX Supply Valves (AF006, 017) to the suction of the AF pumps?
coincident with ‘

b.

Safety Injection signal with Low-Low steam generator
any one Steam Generator.

Safety Injection signal with Low level in condensate
tank.

Reactor Cocolant pump bus undervoltage (2/4) with low
condensate storage tank.

. Reactor Coolant pump bus undervoltage (2/4) with low

Auxiliary feedwater pump suction pressure.

level in

storage

level in
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QUESTION: 065 (1.00)

During a Reactor Startup, the source range high
is Blocked once one of the two intermediate range
channels reach the setpoint,

a. Neutron flux trip; Manually; P-i0.
b. Neutron Flux Trip, Manually: P=6,
¢. Voltage, Automatically: P-10.
d. Voltage; Automatically: P=6.

QUESTION: 066 (1.00)

Following a LOCA, individual Core Exit Thermocouple temperatures may
vary due to (1) and/or (2) '

a. 1. Vessel upper head vuiding.
2. Large increase in RCS pressure.

b. 1, Large increase in RCS pressure.
2., Core outlet mixing problems.

¢. 1. Irregular core flow patterns.
2. Core outlet mixing problems.

d. 1. Containment atmospheric pressure high.
2. Irregular core flow problems.
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QUESTION: 067 (1.00)

Per BEP-~1 LOSS OF RX OR SECONDARY COOLANT, operator action
summary, which ONE of the following actions should be taken with
a CST level of < 3%?

a. Isolate ONE SG secondary side and allow AUTO AF Suction
swapover to S8X.

b. 1solate THREE SG secondary sides and allow AUTO AF Suction
Swapover to SX.

¢. Isolate ONE SG secondary side and MANUALLY align 8X to
the AF suction.

d. Isolate THREE SG secondary sides and MANUALLY align 8X to
the AF suction.

QUESTION: 068 (1.00)
The following plant conditions exist:

ROD CONTROL URGENT FAILURE annunciator.........LIT
Control Bank D Group 2 movable gripper coil fuse...BLOWN

Which ONE of the following caused the Rod Control Urgent failure
alarm?

a. Logic error in power cabinet (1BD).
b, Phase failure in power cabinet (1BD).
¢. Logic error in power cabinet (2BD).

d. Phase failure in power cabinet (2BD).

Page 35
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QUESTION: 074 (1.00)

Which ONE of the following describes the method of Steam Generator
level control following an Auxiliary Feedwater System (AFW)
automatic start?

a. The AFW discharge MOV's (AF013) will remain in current position
and then automatically throttle closed after normal level
is restored.

b. The AFW discharge MOV's (AF013) will remain in current position

and the operator must throttle AFW discharge AOVs (AF005) closed
after normal level is restored.

¢. THE AFW discharge MOV's (AF013) will immedjately travel full open
and then automatically throttle closed after normal level
is restored.

d. The AFW discharge MOV's (AF013) will immediately travel full open

and the operator must throttle AFW discharge AOVe (AF005) closed
after normal level is restored.

QUESTION: 075 (1.00)
Which ONE of the following would cause a TRIP of the Motor
Driven Main Feed pump but NOT the turbine Driven Main Feed
Pump?
a, Safety Injection,
b. Loss of ALL condensate punmps.
¢. Low lube o0il pressure.

d. Steam Generator High-2 level.
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QUESTION: 076 (1.00)
Which ONE of the following is NOT a requirement to open
No. 1 RCP seal bypass valve (CV 8142) when No. 1 seal leakoff
tenperature approaches 184 F?
a. RCS pressure is 980 psig.
b. Seal injection flow is 6 gpm per pump.
c. No. 1 Seal Leakoff isolation valves (CV 8141 A-D) are open.

d. No.l Seal leakoff flow is 0.7 gpm

QUESTION: 077 (1.00)

puring full power operations on unit 1, a spurious Phase A
isolation signal is received. Which ONE of the following
describes the effect upon RCP seal operation?

a. No. 1 Seal leakoff flow increases due to loss of normal
injection flow.

b. No. 2 Seal leakoff flow increases due to higher pressure
in No. 1 Seal leakoff line.

c¢. No. 3 Seal Leakoff flow increases due to failure of No.1.
Seal.

d., No effect upon seal flow leakoffs will be noted.

QUESTION: 078 (1.00)

Which ONE of the following is started FIRST by the Safe Shutdown Seguencer
timer?

a. Centrifugal Charging Pump.
b. Containment Spray Pumps.
¢. Component Cooling pumps.

d. Auxiliary feedwater pumps.
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QUESTION: 079 (1.00)
After a loss of power to Inst Bus 111, which ONE of the following
describes the ESF equipment response when a Safety Injection signal
is received?
a. All equipment required to start would sequence on.
b. Only Train A eguipment would sequence on.
¢. Only Train B equipment would seguence on.

d. Neither Train (A/B) would seguence on.

QUESTION: 080 (1.00)

Which ONE of the following signals uses P-4 as an input to
initiate an ESF actuation signal?

a. Feedwater isolation.
b. Steamline isolation.
¢. Aux Feedwater actuation.

d. Containment Spray actuation.

QUESTION: 081 (1.00)
wWhich ONE of the following actions will result in an automatic
start of the Motor driven Auxiliary Feedwater pump and NOT the
Diesel Driven Auxiliary Feedwater pump?
a. Safety Injection Signal.
| b. Undervoltage on two/four RCP buses.
¢c. 8/G lLow-Low signal in one/four 8Gs.

d. Under voltage on ESF bus 141.
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QUESTION: 082 (1.00)

Which ONE of the following valves fails OPEN on a loss of
instrument air to containment?

a. CV-8389A, Regen Hx Letdown Shell side inlet isolation.
b. CV-8324A, Regen Hx Tube side inlet isolaticn.

¢. CV=-8141A, 1A RCP Seal Leakoff Isolation.

d. CV=-459, Letdown Line Isolation.

QUESTION: 083 (1.00)

Which ONE of the following would occur it the Automatic closure
of the charging pump suction valves (112B and C) from the VCT
failed upon receiving a Safety Injection signal? (Assume NO
operator action).

a. Hydrogen entrapment in the charging pumps due to the VCT
being drained.

b, Higher than expected boron Concentration of water being
injected into the reactor vessel.

¢. Letdown would NOT automatically isolate, thus reducing
the inventory in the RCS.

d. Backflow of the RWST inventory into the VCI, thus

reducing the available inventory injected into the
Reactor vessel.

QUESTION: 084 (1.00)
During Natural Circulation flow conditions the Narrow Range temperature
instruments are not utilized for indication. Which ONE of the following
describes the reason for not using Narrow range?

a. Use Wide Range hot leg temperature, due to insufficient flow through
the Narrow Range instrument manifold.

b. Use Wide Range Cold leg temperature due to loss of RCP Flow.

¢, Use average of ten highest CETCs due to inaccuracies of Narrow Range
instruments in two phase flow.

d. Use Saturation temperature for SG pressure due to insufficient flow
through the Narrow Range instrument manifold.



REACTOR OPERATO}

QUESTION: 085 (1.00)

wWhich ONE of the following wi

1l CCur cn a Large
RCS Water into the pressurizer

L
while at 100% pow

a. Pressurizer pressure will increase causi
pressurizer spray valves to close.

b. Pressurizer pressure will decrease causil
backup heaters to energize

c. Pressurizer level will increase causing
valves to close.

d. Pressurizer level will increase causing
heaters to energize.

QUESTION: 086 (1.00)
The following plant conditions exist:

.
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e Steam DUmMPS...ss44¢444armed
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QUESTION:

087 (1.00)

Which ONE of the following is correct concerning the
Emergency Diesel Generator system when placed in the AUTO MODE?

QUESTION:

An emergency start will enable all trips to shutdown the
diesels in order to prevent damage.

A manual start wil) enable all trips and control
functions with the exception of manual emergency trips.

An emergency START will disable all trips and control
functions with the exception of generator differential,
mechanical overspeed and manual emergency trips.

A Manual START will enable normal speed and voltage

control and governor droop for parallel operation is
Automatically removed.

088 (1.00)

While performing BEP ES-1.3 TRANSFER TO COLD LEG RECIRC, which ONE
of the following manual actions is NOT required by the operator?

b.

Open the Charging pumps flow control valve (FCV-121).

Open the Component Cooling Water valves for the RHR heat
exchanger (CC 9412).

., Close the RWSET to RHR pump suction valves from the RWST (SI 8812).

Close the RHR heat Exchanger discharge X-tie valves (RH 8716).
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QUESTION: 08% (1.00)

A DRPI fer Control Bank D rod M-12 has been declared inoperable per
Technicel Specifications. Which ONE of the following actions is

required?

a. Use incore detectors to perform a flux map of the core.
b. Perform current measurement of coils on CRDMs.

¢. Maintain Rod position through boration/dilution as
power changes.

d. Use excore detectors to monitor changes in QPTR.

QUESTION: 090 (1.00)

Which ONE of the following describes the coincidence necessary
for a containment Spray Actuation to occur with containment
pressure transmitter PT-937 inoperable?

a. Locally trip Bistable (PB-937A) by placing it in the TEST position
for 1/3 ceincidence.

b. Locally bypass Bistable (PB-937A) by placing it in the TEST position
for 1/3 coincidence.

c. Locally trip Bistable (PB-937A) by placing it in the TEST position
for 2/4 coincidence.

d. Locally bypass Bistable (PB~937A) by placing it in the TEST position
for 2/4 coincidence.
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QUESTION: 091 (1.00)
The following plant conditions exist:

Reactor Pcwer.......... 98% Steady State
Rod' In QOOODDUOCOOOOCOQAth

If "C" Steam Generator Atmospheric Relief Valve was to cpen,

which ONE of the fol'! wing statements describes the reactivity

effect seen (Assume v operator action):
a. Positive reactivity is added as a result of TAVG decrease,.
b. Negative reactivity is added as a result of TAVG increase.
¢. Positive reactivity is added as a result of TAVG increase.

d. Negative reactivity is added as a result of TAVG decrease.

QUESTION: 092 (1.00)

With Reactor power at 90%, which ONE of the following would occur after
a Loss of Bus 1437 (Assume NO operator action)

a. Reactor trip due to decreasing pressurizer pressure.
b, Turbine trip due to decreasing vacuum.
c. Loss of indication on all channel I1I instruments.

d. Reactor trip due to generator trip.

QUESTION: 093 ‘1.00)

With Reactor .er at 98%, which ONE of the following describes
the plant response to a loss of 125 VDL bus 1147 (Assume NO
operator action)

a. Decreasing Steam Generator Level due to the closure of
all feedwater regulating valves.

b. Loss of DC control power to bus 141 components.
¢. Loss of DC control power to the PMG breaker.

d. Increasing pressurizer level due to the loss of letdown.
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QUESTION: 094 (1.00)
The following initial conditions exist:

- 1A Diesel Generator s*arted on UV, feeding bus 141.

- Emergency mode speed-voltage control switch in MANUAL
EMERGENCY .

- SAT feed breaker is closed.

After closing SAT feeder breaker (1412), which ONE of the following
describes the 1A Diesel Generator response if the emergency mode speed-voltage
control switch were place in MAUTO?

a. Diesel Generator would pick up load due to being in the
isochronous mode.

b. Diesel Generator w.ulld shed load due to being in the
isochronous mode.

¢. Dissel Generatcr would pick up load due to being i “he
aroop mode,

d. Diesel Generator would shed load due to being i. nhe
droop mode.

QUESTION: 085 (1.00)

Per Technical Specifications 3.3.3.9, which ONE of the following
describes the action upon placing the Station Blowdown Monitor
(CRE-PR010) out~of=-service?

a. Continue discharges for seven days while performing grab
samples of circulating water blowdown every 12 hours.

b. Discontinue any discharging until returned to service and
perform a grab sample of station blowdown.

¢. Continue discharges for thirty days while performing grab
samples of circulating water blowdown every 12 hours.

d. Discontinue blowdown for twelve hours, then continuous
grab samples performed during each discharge.
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QUESTION: 096 (1.00)

The following initial

Which ONE of the following acticns is required to restore
instrunent alr pressure:

a. Defeat the SAC trips, then attempt to start U=-2 SAC

b. Connect nitrogen bottle to SAC-2 cabinet and raise control
air pressure to 100 psig before SAC.

Connect conmpressed air bottle to SAC-2 cabinet and raise
air pressure to 100 psig before SAC,.

&

Attempt to restart SAC-1 after restoring power, while
hooking up temporary air compressor to SAC cabilnet.
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1.00)
The following initial

Reactor Power.

Pressurizer level § 600 ,
Tetdown Flow .. ‘0 5 gpn
FOV CV 121... : . . Manual

a

[«
a

which ONE of the following gscribes the p
to a 20 gpm charging line leak outside cor
(Assume NO operator action)

lant response

tainment?

a. Decreasing pressurizer to 17%, letdown isolates
and heaters turn off leading to OT Delta T Reactor
tr'ip.

Increasing pressuricer level due to isolation
letdown leading to a High Pressurizer Level
121D,

Decreasing pressurizer level to 17%, letdown isolates and
heaters turn off leading to lLow Pressure Reactor Trip.

Decreasing pressurizer level to 17%, letdown isolates
Raa

pressurizeir level increases leading to High lLevel
trip.

098

()

ONE of the following does NOT prevent dralning of

SFP coeoling pump suction from SF
SFP sluice gate interlock.
Anti-siphon hole

SFP cooling
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QUESTION: 099 (1.00)
The following initial conditions exist:

Pressurizer Pressure...........1800 psig and decreasing
Containment pressure...........3.5 psig

All RCPS are tripped

All SG Pressure@........++++++..940 psig and decreasing

Which ONE of the following statements describes the reason for
all FOUR MS8IVs going shut with NO operator action?

a. Ramp decrease in Pressurizer pressure resulted in Safety
Injection Signal.

b. Ramp Increase in Centainment pressure resulted in Steamline
Isolation Signal,

>, Step decrease in 8G resulted in Steamline Isclation
Signal.

d. Step decrease in Pressurizer pressure re-ulted in Safety
Injection Signal.

QUESTION: 100 (1.00)

Which ONE of the following sets protective functions (reactor trip)
protects against DNE?

a. Low Pzr Pressure, High Pz2r Level.
b. Overtemperature Delta T, High Pzr level.
¢. Overtemperature Delta-T, Low Pzr Pressure.

d. High Pzr pressure, High Pzr level.

(**rxxanrns END OF EXAMINATION *rkhkrnnnn)
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¢4 miradl
Reduce THERMAL POWER to less than 50X of RATED THERMAL POWER
within & hours and reduce the Power Range Neutron Flux=High
Trip Setpoints to less than or equal S5% of RA(ED THERMAL
POWER within the next 4 hours: and
Icertwfy and correct the cause of the out-of-1imit condition
prior to )ncre55'~q THERMAL POWER; subs quent POWER OPERATION
abo'e 50X of RATED THERMAL POWER ma, proceed provided that the

QUADRANT POWER TIL‘ RATIO is verified within 1ts limit at least

rﬁce per hour for 12 hours or until verified at 95X or greater
RATED THERMAL POWER.

he provisions of Specification 3.0.4 are not applicable

SURVEILLANCE REQUIREMENTS
4.2.4.1 The QUADRANT POWER TILT RATIO shall be determined to be within the
limit above S0X of RATED THERMAL POWER by:
a. Calculating the ratio at least once per 7 days when the alarm is
OPERAELE, and
b Calculating the ratio at least once per 12 hours during steady-state
operation when the alarm is inoperable.
4.2.4.2 The QUADRANT POWER TILT RATIO shall be determined to be within the
1imit when above 75% of RATED THERMAL POWER with one Power Range channel
\noperable by using the movable incore detectors to confirm that the normalized
symmetric power cws*rnout\on, obtained from two sets of four symmetric thimble
locations or a full-core flux map, is consistent with the indicated QUAD xANT
POWER TILT RATIO at least once per 12 hours.
BYRON = UNITS 1 & 2 4 2-1
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SENIOR REACTOR OPERATOR

ANSWER: 005 (1.00)
<
REFERENCE:

1BFR-S5.1 Step 4
020024G010 ««(¥A's)

ANSWER: 006 (1.00)
b
REFERENCE:

1BOA PRI-12 step 1.
000024G011 ++(KA's)

ANSWER: 007 (1.00)
b
REFERENCE

1BEP-2 Step 3.
000040A201 .. (KA'S)

ANSWER! 008 (1.00)
d
REFERENCE:
1. Red path summary on foldout page EP-0.

2. 2BST-2 CORE COOLING STATUS TREE.
000074K311 .. (KA's)

ANSWER: 009 (1.00)
d

Page 51



SENIOR REACTOR OPERATOR Page 52

REFERENCE:
1. IFSTA Basics of Fire Fighting.

2. Bryon Fire Fighting Manual.
000067K101 .+ (KA's)

ANSWER: 010 (1.00)
d
REFERENCE :

Bryon Drawing 6E-1-4001A
000067A217 .+ (KA's)

ANSWER!: 011 (1.00)
d
REFERENCE:

1BOA PRI-5 step 1.
000068G011 .. (KA's)

ANSWER: 012 (1.00)
a
REFERENCE:

1BOA PRI-5 Note associated vith step 21 on page 25 of 9¢.
000068A101 .. (KA's)

ANSWER: 013 (1.00)

a
REFERENCE:

1. Lesson Plan chapter 19: Component c¢ooling system pgs 19-12 and

19-24.
000026A201 .+ (KA's)



SENIOR REACTOR OPERATOR

ANSWER!: 014 (1.00)
b
REFERENCE:

1. System Descripticn Chapter 19: COMPONENT COOLING WATER, Table

III page 19-31.
000026A102 ..{KA's)

ANSWER: c15 (1.00)
a
REFERENCE:

1BOA RCP-1, Symptoms cr Entry Conditions
000015A122 .+ (KA's)

ANSWER!: 016 (1.00)

*ANSWER
d

REFERENCE:
*REFERENCE

1BOA PRI=-6
000015A208 .. (KA's)

ANSWER: 017 (1.00)
4
REFERENCE:

1BOA ROD-3 attachment A.
000005G012 .+(KA'Ss)

ANSWER: 018 (1.00)

C
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SENIOR REACTOK OPERATOR Page 54

REFERENCE:

1BOA ROD~2 step 3b.5 RNO,
000005G0O0S5 ++(KA's)

ANSWER: 019 (1.00)
a

REFERENCE:
1. BFR-8.1 Step 1.

2. Background document FR=S.1 pg 75 basie.
000029K301 ++(KA'Ss)

ANSWER: 020 (1.00)

*ANSWER
d

REFERENCE:
*REFERENCE
1. 1BEP-0 steps 28-30.

2. 1BEP ES~0.0 steps 1-3.
000011A213 .+ (KA's)

ANSWER: 021 (1.00)
c

REFERENCE:
1BEP-0 Foldout page.
1BOA PRI~-1

BAP 300-~1
000011A104 «+(KA's)

ANSWER: 022 (1.00)

*ANSWER
d



SENIOR REACTOR OPERATOR Page S5

REFERENCE:
*REFERENCE
1, Tech Spec 3.4.8

2. 1BOA PRI-4 step 3.
000076A202 «++ (KA's)

ANSWER: 923 (1.00)
b
REFERENCE:
1. System Description Chapter 49:RADIATION MONITORE pgs 49-13

thru 49-20.
000076K201 «+(KA's)

ANSWER: 024 (1.00)
d
REFERENCE:

1BOA SEC step 1, Temporary Procedure.
000034G010 .+« (KA'S)

ANSWER: 025 (1.00)

d
REFERENCE:

ERG Background ES-0.1 pages 10 and )&

ES-0.1 step 3, 4, 18.
000054K303 .o (KA'S)

ANSWER: 026 (1.00)

*ANSWER
a



REFERENCE:

step 4.
BEP~3 steps 3-4.
000038A132

2BEP-(0 Symptoms of entry conditions
P=7 inputs,
000007A205 .+« (KA'S




SENIOR REACTOR OPERATOR Page 5’

REFERENCE:
*REFERENCE
1BOA PRI-10 Table A note 4.,
1BEP~0 Note adverse CTMT.
000025K101 s (KA'8)

ANSWER: 031 (1.00)

a
REFERENCE:

1. Lesson plan chapter 32:INTERMEDIATE RANGE NUCLEAR

INSTRUMENTATION SYSTEM figure 31-1,
000033A201 .+ (KA'S)

ANSWER:! 032 (1.00)

REFERENCE:

1BOA PRI~-10 table A.
000025K301 .+ (KA's)

REFERENCE:

1BOA ELEC~-1 LOSS OF DC BUS
000058A203 .+ (KA's)

ANSWER:

o
w
F-N
P
-
p

a
REFERENCE:

1BOA ELEC-1 step 1. RNC

000058G009 .+ (KA'S)




SENIOR REACTOR OFERATOR Page 58

ANSWER: 035 (1.00)

*ANSWER
b
REFERENCE:
*REFERENCE
1BEP~0 RNO column step 26.
000008A107 v+ (KA'S)

ANSWER: 036 (1.00)
d
REFERENCE:

Tech Spec 3.4.4
000008G003 ++(KA'S)

ANSWER: 037 (1.00)
c
REFERENCE:

Tech Spec 3.3.1
000027A206 «+(KA's)

ANSWER: 038 (1.00)
a
REFERENCE:

System description chapter 14.
000027A216 «+(KA's)

ANSWER: 039 (1.00)

*ANSWER
C



SENIOR REACTOR OPERATOR

REFERENCE:
*REFERENCE
1BOA SEC-4 attachment C and note prior to step 1.
000065A206 ++ (KA'S)

ANSWER: 040 (1.00)

*ANSWER
d
REFERENCE:
*REFERENCE
System description 14 pg 14-63.
000028A101 ++(KA's)

ANSWER: 041 (1.00)

*ANSWER
a

REFERENCE:
*REFERENCE

1BOA REFUEL 1
0000366010 .. (KA'S)

ANSWER: 042 (1.00)

a
REFERENCE:
1. 1BOA ELEC=-4.
2. 1BEP=-0,.
3. ERG Executive volume users guide pg 20-21.
000056G011 ++(KA's)

ANSWER: 043 (1.00)
4
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REFERENCE

ANSWER: 046

*ANSWER

a

REFEREN